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If a tree has a node of degree one, two nodes of degree two, three nodes of degree three....., n nodes of

degree n, how many leaf nodes are there in this tree? (25%)

. The recursive formula for binomial coefficient is C; =C~ +C*, for all integers n, k > 0, with boundary

values: (25%)

C, =1, for all integers n>0,
C. =0, forall integers k >0,
C, =1, for all integers n>0

Write a recursive function int cnk{(int n, int k), which computes and returns the binomial
coefficient C,.

Read the following data in the given order, and show the corresponding trees. (25%)
11, 15, 27, 22, 6, 19, 31, 37, 17, 25, 2, 33, 8

(1) Binary search tree

(2) AVL tree

Please write an algorithm to invert a singly linked-list pointed by pointer p. (25%)




